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21 In the shape shown below, A, B and C are the vertices of an equilateral triangle, side length
xcm. The arc AC forms a semicircle.

C (not to scale)

Which of the following alternatives is a correct expression for the area, in cm?, of the

shape?
A ,\~2(2\/§ + 7[)
8

B F 2 (\/g + 72')
4

c x2(2+7)
8

D .\'2(4\/5 + /r)

8
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24 The solid shown below consists of a cylinder topped by a hemisphere of the same radius.

Which one of the following correctly gives the volume of this solid?

JZT2

2
B B (ar+30)
3
c T (2+30)
3
127'2
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16 Aright-angled triangle is shown.

Diagram not to scale

6+6'

Calculate the area of the triangle.

A 9-6
B 9-43
c 52+ 446
D 9+46

E 15+ 546



